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Задача 1:
[bookmark: _GoBack][image: ]
Определяем поперечную силу и изгибающий момент в каждом сечении балки:
                           
 

     


Проверка:  .  
 






Задача 2
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Проверка:   
 





Задача 3
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h1=18 см; b1=1.6 см;
A1=b1*h1=28,8 см2 
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A2= 15,6 см2
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B3= 140 мм= 14 см; b3= 90 мм= 9 см
A3=18 cм2
 х0= 2,03 см
; y0= 4,49 см
JBтбл= 70,3 см4









  
   







 
 





(-) Поворот осей по часовой стрелке


    


























Задача 4
С – 2, В – 26
l1=60 см; l2=74 см; l3=42 см; A1= 6 см2;  A2= 12 см2; A3= 4 см2; F1= 140 кН; F2= 160 кН; F1= 200 кН;
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